Honors Chemistry



Name______________________________________
Limiting Reactants

Answer the following questions about each of the following reactions.

A. Which reactant is the limiting reactant?

B. Which reactant will be in excess (left over)?

C. How much of each product will be produced?

D. How much will be left over?

1)   16 g of H2 reacts with 96 g of O2 according to the following reaction:


H2  
+   
O2   
(    
H2O

2)  42 g of N2  reacts with 12 g of H2  according to the following reaction:


N2    
+
H2
(
NH3
3)  90 g of C2H6 reacts with 80 g of O2 according to the following reaction:


C2H6
+
O2
(
CO2
+
H2O

4)  34 g of NH3 reacts with 36 g of CO2 according to the following reaction:


CO2
+
NH3
(
CON2H4

+
H2O

5)  900 g of C6H12O6  reacts with 900 g of O2 according to the following reaction:


C6H12O6  
+
O2
(
CO2
+
H2O

6)  412 g of NaBr  reacts with 210 g of Cl2  according to the following reaction:


NaBr  
+
Cl2
(
NaCl
+
Br2
7)  100 g of C3H8 reacts with 200 g of O2 according to the following reaction:


C3H8
+
O2
(
CO2
+
H2O

8)  1056 g of CO2 reacts with 432 g of H2O according to the following reaction:


CO2
+
H2O
(
C6H12O6

+
O2
